. Which one is the phrase “ baby boom" in paragraph 1 similar to in meaning?
a) a great increase in deaths b} a great increase in births
. Write T (TRUE], F (FALSE) or N (Not Mentioned) next to the statements below.

... a) Men were sent back to work in record numbers before the World War |l ended.
... b} In the 1950s, a lot of clothing was similar in shape. Howewer, their colours were varied.
... €} We can understand from the passage that men started to wear more colourful and casual clothes in their
free time during the fifties.
... d} Almost every family had at least two children during that decade.

. What does the word “it" in paragraph 3 refer to?

. Do you think fashion changes quickly for men in these days? Why/ Why not?



